Calcular Porcientos (B)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 1.300 es
6897

. ¢Qué porciento de 9.100 es
7.189?

. ¢Qué porciento de 4.600 es
2.3467

. ¢Qué porciento de 7.000 es
6.090?

. ¢Qué porciento de 8.700 es
3.7417

10.

;Qué porciento de 7.800 es
5.382?

;Qué porciento de 8.100 es
4.2937?

;Qué porciento de 5.250 es
4.4107?

;Qué porciento de 7.200 es
5.1127?

;Qué porciento de 4.540 es
2.043?
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Calcular Porcientos (B) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 1.300 es
6897
53%

. ¢Qué porciento de 9.100 es
7.189?
79%

. ¢Qué porciento de 4.600 es
2.3467
51%

. ¢Qué porciento de 7.000 es
6.090?
87%

. ¢Qué porciento de 8.700 es
3.7417
43%

10.

;Qué porciento de 7.800 es
5.382?
69%

;Qué porciento de 8.100 es
4.2937?
53%

;Qué porciento de 5.250 es
4.4107?
84%

;Qué porciento de 7.200 es
5.1127?
71%

;Qué porciento de 4.540 es
2.043?
45%
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